
Joke Corner 

What kind of nuts always seem to have a cold?
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I can multiply numbers by a one-digit number using long multiplication.

A 
390

B 
231

C 
315

D 
265

E 
249

F 
214

G 
450

H 
288

I 
664

J 
735

K 
193

L 
789

M 
1001

N 
425

O 
421

P 
416

Q 
902

R 
57

S 
360

T 
666

U 
293

V 
846

W 
426

X 
20

Y 
213

Z 
146

a) 4 5

× 7

b) 7 8

× 5

c) 4 5

× 8

d) 7 2

× 4

e) 8 3

× 3

f) 7 1

× 6

g) 4 0

× 9

                                  



What goes up and down but does not move?
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A 
390

B 
231

C 
315

D 
265

E 
249

F 
214

G 
450

H 
288

I 
664

J 
735

K 
193

L 
789

M 
1001

N 
425

O 
421

P 
416

Q 
902

R 
57

S 
360

T 
666

U 
293

V 
846

W 
426

X 
20

Y 
213

Z 
146

a) 6 0

× 6

b) 7 4

× 9

c) 6 5

× 6

d) 8 3

× 8

e) 1 9

× 3

f) 9 0

× 4

                             



Joke Corner Answers

Question Answer

1. What kind of nuts always seem to have a cold?

Cashews!

a 45 × 7 = 315

b 78 × 5 = 390

c 45 × 8 = 360

d 72 × 4 = 288

e 83 × 3 = 249

f 71 × 6 = 426

g 40 × 9 = 360

2. What goes up and down but does not move?

Stairs

a 60 × 6 = 360

b 74 × 9 = 666

c 65 × 6 = 390

d 83 × 8 = 664

e 19 × 3 = 57

f 90 × 4 = 360
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Joke Corner 

What did the buffalo say to his son when he went away on a trip?
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I can multiply numbers by a one-digit number using long multiplication.

A 
3776

B 
4088

C 
9643

D 
6153

E 
4113

F 
2564

G 
56

H 
1323

I 
1892

J 
2000

K 
367

L 
4630

M 
4632

N 
1710

O 
3850

P 
6473

Q 
8476

R 
8463

S 
1092

T 
5736

U 
1978

V 
4500

W 
932

X 
134

Y 
4640

Z 
1500

a) 5 8 4

× 7

b) 4 7 3

× 4

c) 3 6 4

× 3

d) 7 7 0

× 5

e) 2 8 5

× 6

                        



What do you call a bear with no ears?

What cheese is made backwards?
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A 
3776

B 
4088

C 
9643

D 
6153

E 
4113

F 
2564

G 
56

H 
1323

I 
1892

J 
2000

K 
367

L 
4630

M 
4632

N 
1710

O 
3850

P 
6473

Q 
8476

R 
8463

S 
1092

T 
5736

U 
1978

V 
4500

W 
932

X 
134

Y 
4640

Z 
1500

a) 5 8 4

× 7

a) 4 5 7

× 9

b) 8 7 9

× 7

c) 4 7 2

× 8

d) 7 7 2

× 6

                   

    



Joke Corner Answers

Question Answer

1. What did the buffalo say to his son when he went 
away on a trip?

Bison! 

a 584 × 7 = 4088

b 473 × 4 = 1892

c 364 × 3 = 1092

d 770 × 5 = 3850

e 285 × 6 = 1710

3. What cheese is made backwards?

Edam

a 457 × 9 = 4113

b 879 × 7 = 6153

c 472 × 8 = 3776

d 772 × 6 = 4632

2. What do you call a bear with no ears?

B!

a 584 × 7 = 4088
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Joke Corner 

How can you tell an ocean is friendly? (Clue: two words)

Once you have found the letters by completing the calculations, unscramble the letters to find 
the answer to the joke.
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I can multiply numbers by a one-digit number using long multiplication.

W 
0

A 
1

I 
2

S 
3

A 
4

T 
5

R 
6

O 
7

V 
8

E 
9

a) 5 9

× 6

3 5 8

b) 4 6

× 7

2 8 2

c) 9 4

× 3

8 2

d) 5 9 6

×

5 3 6 4

                                     



What type of songs do the planets sing?

What did the lawyer name his daughter?
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S 
0

N 
1

A 
2

P 
3

U 
4

E 
5

T 
6

C 
7

H 
8

N 
9

              

               -                         

Once you have found the letters by completing the calculations, unscramble the letters to 
find the answer to the joke.

a) 7 5

× 6

4 7 7

a) 6

× 4

3 5 8 4

b) 9 8

× 2

8 7

b) 9 5 2

× 8

7 6 6

c) 8

× 3

1 4 5

U 
0

S 
1

T 
2

R 
3

P 
4

O 
5

M 
6

N 
7

U 
8

E 
9



Joke Corner Answers

Question Answer

1. How can you tell an ocean is friendly?

It waves

a 593 × 6 = 3558

b 406 × 7 = 2842

c 294 × 3 = 882

d 596 × 9 = 5364                      

3. What did the lawyer name his daughter?

Sue

a 896 × 4 = 3584  

b 952 × 8 = 7616

2. What type of songs do the planets sing?

Nep-tunes

a 795 × 6 = 4770

b 938 × 2 = 1876

c 485 × 3 = 1455                
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